














線形制御理論

４
制御系が図 1で与えられているとする．ここで P (s) は制御対象，C(s) は補償器であり

P (s) =
−2s+ 1

2s2 + 5s+ 2
, C(s) =

1

as+ b

である．ただし a, b は実定数であり，(a, b) ̸= (0, 0) を満たす．また r は参照入力，e は

偏差，y は出力である．以下の問いに答えよ．

(i) (a, b) = (0, 2)とする．このとき単位階段関数を参照入力とするときの出力を求めよ．

(ii) a = 0 とする．このとき制御系を安定化させる b をすべて求めよ．

(iii) a = 0 とする．このとき位相余裕を無限大とする b をすべて求めよ．

(iv) 単位階段関数に対する定常偏差が 0 となるような (a, b) をすべて求めよ．

-▶
r f+

−
-▶

e
C(s) -▶ P (s) -▶

y

6▲

図 1: 制御系



An English Translation:

Linear Control Theory

４
Figure 1 shows a control system with the plant P (s) and the controller C(s) given by

P (s) =
−2s+ 1

2s2 + 5s+ 2
, C(s) =

1

as+ b
,

where a and b are real constants satisfying (a, b) ̸= (0, 0). Moreover, r is a reference input,

e is an error, and y is an output. Answer the following questions.

(i) Let (a, b) = (0, 2). Calculate the output when the reference input is the unit step

function.

(ii) Let a = 0. Find all the constant b for which the control system is stable.

(iii) Let a = 0. Find all the constant b which makes the phase margin infinity.

(iv) Find all the constants (a, b) for which the steady-state error for the unit step function

is 0.
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Figure 1: Control System



























物理統計学

５
単原子分子からなる古典的な理想気体の熱平衡状態において分子の速度を v⃗, その x成分,

y成分, z成分をそれぞれ vx, vy, vzとする. この時, 速度の x成分が vxと vx + dvxの間に

ある確率が, その y成分 vy, z成分 vzによらず f(vx)dvxによって与えられるとする. 同様

に, 速度の y成分が vyと vy + dvyの間にある確率, z成分が vzと vz + dvzの間にある確率

が, それぞれ, f(vy)dvy, f(vz)dvzによって, 与えられるとする. 更に, 速度の x成分が vxと

vx+ dvxの間にあると同時に, y 成分が vyと vy + dvyとの間にあり, z成分が vzと vz + dvz

との間にある確率は,

f(vx)f(vy)f(vz)dvxdvydvz = g(v2)dvxdvydvz

と書けるとする. 但し, fとgはなめらかな関数であり,分子の速さをv = |v⃗| =
√
v2x + v2y + v2z

とする. 以下の問いに答えよ.

(i) 次式が成立することを示せ.

1

2vx

f ′(vx)

f(vx)
=

1

2vy

f ′(vy)

f(vy)
=

1

2vz

f ′(vz)

f(vz)
=

g′(v2)

g(v2)
.

(ii) 次式が成立することを示せ. 但し, αは正の定数とする.

f(vx) =

√
α

π
e−αv2x , f(vy) =

√
α

π
e−αv2y , f(vz) =

√
α

π
e−αv2z .

(iii) 分子の速さが, vと v + dvとの間にある確率 F (v)dvを求めよ.

(iv) (iii)の確率密度関数F (v)が極大値となる最も確からしい速度 (most probable speed)

v0を求めよ.

(v) 平均二乗速度 (root mean square speed) vsを求めよ. 但し, 平均二乗速度とは「速

さの二乗平均の平方根」のことである.



An English Translation:

Physical Statistics

５
Let v be the speed of a particle in a classical ideal monoatomic gas in thermal equilibrium,

and let vx, vy and vz, respectively, denote the velocity components in the x, y and z

directions. Let us denote the probabilities of gas molecules with the velocity components

between vx and vx + dvx, vy and vy + dvy, and vz and vz + dvz, by f(vx)dvx, f(vy)dvy,

and f(vz)dvz, respectively. Let us assume that the probability of gas molecules having

the velocity components between vx and vx + dvx, vy and vy + dvy, and vz and vz + dvz,

simultaneously is given by

f(vx)f(vy)f(vz)dvxdvydvz = g(v2)dvxdvydvz,

where f and g are smooth functions and v =
√
v2x + v2y + v2z . Answer the following ques-

tions.

(i) Show that the following relation holds:

1

2vx

f ′(vx)

f(vx)
=

1

2vy

f ′(vy)

f(vy)
=

1

2vz

f ′(vz)

f(vz)
=

g′(v2)

g(v2)
.

(ii) Show that the following relations hold:

f(vx) =

√
α

π
e−αv2x , f(vy) =

√
α

π
e−αv2y , f(vz) =

√
α

π
e−αv2z ,

where α is a positive constant.

(iii) Obtain the probability F (v)dv of the speed being between v and v + dv.

(iv) Obtain the most probable speed v0 such that the probability density F (v) given in

(iii) has a maximum at the speed v = v0.

(v) Obtain the root mean square speed vs.





An English Translation:

Mathematics for Dynamical Systems

６
Let n be a positive integer and let A(t) be an n× n matrix whose ij-component is given

by

aij(t) =


1 (for i = j);

t (for i = j + 1);

0 (otherwise).

Consider the n-dimensional system of differential equations

dx

dt
=

1

t
A(t)x, x ∈ Rn.

Here t > 0. Answer the following questions.

(i) Obtain a general solution when n = 1.

(ii) Obtain a general solution when n = 2.

(iii) Obtain a general solution when n is an arbitrary positive integer.


